@ @ ) ) < N =) ©
8 © 2 @ 1 ]
S 3 o < F 3
o S Y H a} =
+ ° < 9 °© + .
o + i + ©
I 3 S g B ]
2 b @ o ]
g 3 g8 ° -
¢ ? 3
H = -
3 = & s & ©
c|§ ¢ & 3 & z § ¢£E
sl 8 5 & %« 8§ = @
E=
= —]
o -
= ]
- -
2 ]
© -
= =
o —]
o
-
T | ! | ! ! 7
S S ® °
N~ N~
NS
~<
o ———
™+ —————
48 —_—
™ X ——
6 —_——
o0 ,——
3 —
—_——
———
—
Y — e
© —_————————
e —_——
/0 ————
o —_——
< —_————
—
—
—  o—— 4
———
= —_—
2 —
—
o
~ —
= —_—————
[ —
© —
A —

3000 —

2000

1000
-1000 —
—-2000 —



RMS (ppm)

104

102

100

98

96

Adet RMS (ppm)

~H T 1

2585

T Y Y
L L R N e Lo e L e e L R S T R



> 2 ) ) < N = ©
I @ - =} I ]
5 8 AN
S S 5 w5 2
+ ° < 9 °© + -
“ + S + © a
3 B = 2 3 i
8 2 S o
S S 8 © ]
¢ ? 3
H = -
3 2 m k=1 g ©
c|ls ¢ § 5 2 &z § ¢§
sl 8 5 & %« 8§ = @
=
=1 =
o -
s 3]
2 ]
o -
= =
o —]
(@)
-
T | L | L L 7
S g = °
N~ N~
Nl =)
<
o - ———— =
™+ —————
<t © —_— -
o XL —— —
O -_-—— -
o0 0 -
™ —_— —
—_—— -
— —— —
— -
S — | ]
—_— -
e —_—— —
~ o ———— -
o —_———i —
—~[>< Q] ]
2 B — :
———— —
= e ]
1 —
< —_— -
& — —
| —_————
7)) — -
> —_————— -
| L ——L_SE—— —
m —_— -
= — —1
7] — -
a —
..H_ —
© —

3000 —

2000

1000
-1000 —
—-2000 —



RMS (ppm)

104

102

100

98

96

dit_asym_us_avg RMS (ppm)

~H T 1

2585

T Y Y
L L R N e Lo e L e e L R S T R



dit_asym_usr (ppb) 1D pull distribution

X2/ ndf 43.98 / 47

5000 Mean 0.004157 + 0.1382
pO 308.4 +193.1 F
14 I~ Std Dev 0.9572 + 0.09769
B Underflow 0
12 Overflow [
I X2 I ndf 5363/5
10~ Constant 9.367+2.199
B Mean 3.701e-17 + 3.725e-07
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1D pull distribution

—0.0006609 +0.1239

Mean
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